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I, , agree to neither give nor receive any help on this

exam from others. | understand that the use of a calculator or communication device on
this exam is academic misconduct. | also understand that providing answers to questions
on this exam to other students is academic misconduct, as is taking or receiving answers
to questions on this exam from other students. Thus, I will cover my answers and not
expose my answers to other students. It is important to me to be a person of integrity and
that means ALL ANSWERS on this exam are my answers. Any violation of these

guidelines will result in a penalty of at least receiving a zero on this exam.

Signed

Binary Choice (worth 2 points each)

1) Suppose the independent nation of Sealand increased its imports from the United
States this year, and all other spending remains unchanged from the prior year. Given
this information, Joseph reasons (by means of the expenditure approach) that
Sealand’s GDP has increased this year because of the additional spending on imports.

Is Joseph’s reasoning correct?

a) Yes, Sealand’s GDP has increased this year.
b) No, Sealand’s GDP has not increased this year.

2) In October 2009, the official unemployment rate (U3) in the US peaked at 10%. If the
Bureau of Labor Statistics (BLS) counted discouraged workers as unemployed, then
the unemployment rate in October 2009 would have been:

a) Greater than 10%.
b) 10%, because discouraged workers are already counted in U3.
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3) The Simpsons borrowed money, that is took out a mortgage, in order to buy a house.

4)

5)

At the time of the house purchase, the nominal interest rate on the mortgage was
10%, with an expected inflation rate of 7%. If the actual inflation rate is 5% over the
period of time the Simpsons are repaying their house loan, how will this affect the
Simpsons?

a) The lower than expected inflation rate makes this mortgage more
expensive in real terms for the Simpsons.

b) The lower than expected inflation rate makes this mortgage less expensive in
real terms for the Simpsons.

Kevin deposits $1000 in the bank and receives $1050 at the end of the year. If the
inflation rate was 10% during this period, then what is the approximate average real
return on Kevin’s savings?

a) 5%
b) -5%

Suppose we know that the government computes the CPI using a basket of only
apples and onions, but we do not know exactly how many apples and onions are in
this fixed basket. Further, suppose that in 2014, the CPI was 100, and the price per
apple was $1 and the price per onion was $1.

In 2015, the price of apples increased to $2 per apple, while the price of onions
remained fixed at $1 per onion. The CPI for 2015 increased to 110. Given this
information, are there more apples or onions in the CPI basket?

a) There are more apples in the CPI basket.
b) There are more onions in the CPI basket.
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6) A large fraction of the labor force of Buggyland produces buggy whips. At the same
time, Autoland invents the car and exports great numbers of cars to Buggyland. These
exports put buggy whip manufacturers out of business in Buggyland and the buggy
whip industry becomes obsolete.

Given this information and holding everything else constant, in Buggyland the
unemployment rate increases while the natural rate of unemployment remains the
same.

a) True
b) False

7) If output and employment in an economy are above the full-employment level, then
this implies that:

a) The natural unemployment rate has fallen.

b) This economy is producing in the short-run above the long-run trend line
of real GDP.
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8) Suppose this year, Neverland experiences a major economic downturn. Because of
this economic downturn, 20% of the labor force was laid off while the capital stock
was unaffected. Assume that Neverland’s aggregate production function has the usual
properties of diminishing marginal returns and can be expressed as Y = akK 2 Y2,
Given this information, and holding all else fixed:

a) Neverland’s total output falls by more than 20%.
b) Neverland’s total output falls by less than 20%.

9) Suppose Canada has recently seen an increase in its employment due to immigration.
At the same time, Canada lost some of its productive capital due to a major fire (no
people were harmed in this fire). Given this information and holding everything else
constant, what can we say about the marginal product of capital and total output (real
GDP) in Canada after the immigration and fire? (Assume that Canada's aggregate
production function has the usual properties of diminishing marginal returns and can
be expressed as Y = aK*? LY2)

a) Total output falls and the marginal product of capital is indeterminate.
b) Total output is indeterminate, and the marginal product of capital
increases.

10) Financial analysts predict that the country of Guyana will have very high economic
growth this year. This prediction improves consumers’ confidence in the economy,
making them more inclined towards consumption and less inclined towards savings.
Based on this information, how will the interest rate in Guyana most likely react?
Assume borrowing and lending takes place ONLY between residents of Guyana.

a) The interest rate in Guyana will rise.
b) The interest rate in Guyana will fall.
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Multiple Choice (worth 4 points each)

11) Suppose a country experiences constant population growth, and thus labor force
growth, but no capital growth (or depreciation) and no technology improvement.
Given this information, which of the following statements must be true?

a) Real GDP in this economy will remain constant.
b) Labor productivity will increase.

c) Capital productivity will decrease.

d) Real GDP per capita will fall.

12) Suppose John invested $10 into some asset 10 years ago, and today that asset is
worth $40. Given this information and holding everything else constant, what is the
approximate annual rate of return on this asset (assume that the annual rate of return
IS constant over this ten-year period)?

a) 7%

b) 14%
c) 40%
d) 300%

13) In order to spur economic growth, the government of Luxembourg would like to see
the population of Luxembourg double in 35 years. Each year in Luxembourg, for
every 100 residents, one baby is born, but 2% of the population dies. In order to meet
the 35-year population target, what must the annual immigration rate be for
Luxembourg? Assume that all rates are constant over time in this problem.

a) 1% ayear
b) 2% a year
c) 3% ayear
d) 4% a year

6 of 18



14) The official unemployment rate in the US was 10% in October 2009, and it is
currently 5.1%. Which of the following changes would NOT contribute to this fall in
the unemployment rate?

a) Holding everything else constant, the number of employed people increased,
while the number of unemployed people remained the same.

b) Holding everything else constant, the number of employed people increased,
while the number of unemployed people decreased.

¢) Holding everything else constant, some discouraged workers started
applying for jobs 4 weeks ago, but have not yet found jobs.

d) Holding everything else constant, some of the unemployed people stopped
applying for jobs 4 weeks ago, without having found a job.
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15) The following table presents employment information for some small nation.

Civilian noninstitutionalized population, age 16+

1,500,000 people

Civilian noninstitutionalized Labor force participation rate

66.7%

Unemployment rate

10%

Given the above information, what is the number of employed people?

a) 100,000 people
b) 150,000 people
c) 900,000 people
d) 1,350,000 people

16) Use the following table to answer the next question. Assume that the Deflators are

calculated using 2014 as the base year.

Year Nominal GDP Deflator
2013 $50,000 90
2014 - -
2015 $60,000 150

Given the above information, which of the following statements is true?

a) Real GDP increased from 2013 to 2015.

b) The price level (as measured by the deflator) is higher in 2014 than in

2013.

c) The value of nominal GDP in 2014 must be located between the nominal GDP

of 2013 and 2015.

d) Real GDP in 2014 is definitely higher than nominal GDP in 2014.

17) Suppose in 1990, Real GDP is $10,000 and the GDP deflator is 50. In 1991, Nominal
GDP is $15,000 and the GDP deflator is 150. Given this information and holding
everything else constant, what is the growth rate of Real GDP from 1990 to 19917

a) 0%

b) 50%
c) 100%
d) 200%
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Use the following information for the next two (2) questions.

Suppose we have the following information about prices for 2004 (the base year), 2005,

2006, and 2007:

Year Cost of CPI Market | CPI (scale Annual Rate
Basket factor = 100) of Inflation

with Base Year
2004

2004 S T

2005 25%

2006

2007 180 -10%

18) Given the above information, what was the cost of the market basket in 2006?

a) $81

b) $100
c) $162
d) $200

19) Suppose we compute a new CPI based on the above data, but use 2005 as the base
year. What is the CPI for 2004 if 2005 is the base year?

a) 75
b) 80
c) 120
d) 125
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20) Which of the following statements about the CPI and GDP Deflator are true?

)] Both the CPI and the GDP Deflator can be used as measurements of the
aggregate price level.

i) Percent changes in the aggregate price level computed using the CPI1 do
not depend on the choice of base year.

1)  Percent changes in the aggregate price level computed using the GDP
deflator do depend on the choice of base year.

a) Only (1) is a true statement.

b) (1) and (I11) are true statements.

c) Only (I) is a true statement.

d) (D), (1), and (111) are all true statements.
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Use the following information for the next two (2) questions.

In May 2010, there were 10,000,000 people aged 16 or older in the civilian
noninstitutionalized labor force living in Gruyovia. The dictator of Gruyovia insists that
the economy is doing well because the labor force participation rate is at 80%. However,
his opponents argue that 1/4 of those people are working only part-time, and another 1/2
of these people are still looking for jobs (assume both the dictator’s and his opponents’
data are correct).

21) Based on the opponents’ arguments and the provided information, what is the
unemployment rate in Gruyovia?

a) 25%
b) 50%
c) 75%
d) We cannot calculate the unemployment rate from the information given.

22) After hearing the opponents’ arguments, 1,000,000 people who were not employed
and were not actively searching for work leave the country. Additionally, of those
individuals who did not initially have a job and were actively searching for a job,
1,000,000 decide to leave the country, while another 1,000,000 become depressed
about the economic situation and stop searching for a job. Assume these changes
occur between May and the end of June 2010. Assume there are no other changes to
the labor market in Gruyovia.

When Gruyovia’s labor statistics office assesses the employment situation in July
2010, what does it find?

a) Both the unemployment rate and the labor force participation rate have
increased.

b) The unemployment rate has increased, but the labor force participation rate
has decreased.

c) The unemployment rate has decreased, while the labor force participation rate
has increased.

d) Both the unemployment rate and the labor force participation rate have
decreased.
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23) Suppose in 2014, the government decides to borrow money to finance a new war,
and simultaneously replaces the income tax with a consumption tax. All else being
equal, which of the following statements is true?

a) Both the equilibrium quantity of loanable funds and the equilibrium interest
rate will increase.

b) The equilibrium quantity of loanable funds will be indeterminate, and the
equilibrium interest rate will increase.

¢) The equilibrium quantity of loanable funds will increase, and the
equilibrium interest rate will be indeterminate.

d) The equilibrium quantity of loanable funds will decrease, and the equilibrium
interest rate will increase.

24) Imagine that in 2016 the U.S. federal government budget deficit shrinks (it is still a
deficit, but a smaller one), while the U.S. trade deficit increases. Assuming that
savings by U.S. households stays constant, which of the following statements is true
given this information and holding everything else constant?

a) The supply of loanable funds shifts to the left.
b) The interest rate in the U.S. decreases.

c) The U.S. experiences a net capital outflow.

d) Crowding out of investment will occur.
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Use the following information for the next two (2) questions.

At the interest rate of 5%, the people of Innsmouth, MA are willing to lend $10,000 to
local business, while local businesses are willing to borrow $20,000. When the interest
rate rises to 10%, the quantity of loans supplied increases to $20,000 while the quantity
of loans demanded drops to $10,000. Because the people of Innsmouth are suspicious of
outsiders, all financial transactions happen between locals. Assume both the supply and
demand curves for loanable funds are linear in Innsmouth.

25) Captain Marsh hopes to borrow money to open a factory in town. Given the above
information and holding everything else constant, what is the interest rate that
Captain Marsh will pay for her loan?

a) 8%
b) 7.5%
c) 7%
d) 6.5%

26) Return to the original scenario and assume that Captain Marsh is not borrowing any
funds. Suppose the town council of Innsmouth, instead of running their usual
balanced budget, decides to borrow $5,000 from the townspeople to build a new park.
Assume that the supply of loanable funds stays constant. Given this information and
holding everything else constant, which of the following statements is true?

I. The level of private investment spending in Innsmouth will decrease.

I1 The level of savings in Innsmouth will increase.

I11. The equilibrium interest rate will increase after the town council implements
its decision.

a) |isatrue statement.

b) 1and Il are true statements.

c) I, 11, and Il are all true statements.
d) Il and Il are true statements.
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Use the following information for the next two (2) questions.

Consider the following graph of an aggregate production function for two different levels
of capital:

Output
100 Curve B
50 Curve A
25 /
25 100  Units of Labor

Suppose that the capital level for Curve B is higher than that of Curve A.

27) Based on the provided information and the above graph, consider the following
statements:

1) When labor is equal to 100 units and capital is at its lower level, then output is
equal to 50.

I1) Holding the level of capital constant, the Marginal Product of Labor decreases
as the amount of labor increases.

I11) Holding the level of labor constant, Labor Productivity decreases as the
amount of capital increases.

IV) Holding the level of capital constant, Labor Productivity increases as the
amount of labor increases.

Which of the above statements are true?
a) land Il are both true statements.
b) 1and Il are both true statements.

c) I, Il and Il are all true statements.
d) I, Il and IV are all true statements.
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28) Now suppose that the graph above represents the production function

Y =VKVL

Where Y represents units of output, K represents units of capital, and L represents
units of labor.

Given this information, what are the level of capital for Curve A and Curve B?

a) K =1/2 for Curve A, and K =1 for Curve B

b) K =5 for Curve A, and K =10 for Curve B

c) K =16 for Curve A, and K = 25 for Curve B

d) K=25for Curve A, and K =100 for Curve B
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29) Since at least the 1970s, the number of transistors that fit on a given area has doubled
approximately every 2 years (This pattern is known as Moore’s Law). Basically, this
implies that the speed of computers doubles every two years.

Suppose the nation of Silicon Valley has an aggregate production function given by

Y = AVKL

where A represents the level of technology, K represents units of capital, and L
represents number of employed workers. The only type of capital in Silicon Valley is
computers, and the technology level, A, measures the speed of these computers.
Suppose technology in Silicon Valley obeys Moore’s Law.

In 2012, the government of Silicon Valley finds that both the level of output and the
amount of capital stock are exactly what they were in 2010. Given this

information, and holding everything else constant, which of the following statements
are TRUE?

I) Technology grows at an approximate rate of 70% per year.

I1) The number of employed people in 2012 must be % of the number of employed
people in 2010.

I11) Capital productivity is the same in 2012 as in 2010.

IVV) The marginal productivity of labor is higher in 2012 than 2010.

a) Only I is a true statement.
b) Only Il is a true statement.

c) I, Iland IV are all true statements.
d) II, Il and IV are all true statements.
END OF EXAM

If you finish early, please sit quietly until time is up. You should use this
time to check your work and check that your information is filled out
correctly on this test booklet and your scantron.

16 of 18



